	SECTION A
	TOPIC 1
	Underlying principles of criminal liability



WORKBOOK ANSWERS

 AQA AS Law Unit 2

 The Concept of Liability: 
 Criminal Liability and Tort
This Answers book provides suggestions for some of the possible answers that might be given for the questions asked in the workbook. They are not exhaustive and other answers may be acceptable, but they are intended as a guide to give teachers and students feedback. The student responses for the longer essay-style questions are intended to give some idea about how the exam questions might be answered and are based on actual student responses in previous exams. The examiner comments (underlined text) have been added to give you some sense of what is rewarded in the exam and which areas can be developed. Again, these are not the only ways to answer such questions but they can be treated as one way of approaching questions of these types.

Section A Introduction to criminal liability

Topic 1 Underlying principles of criminal liability

 Actus reus

1
a
Bees
b
Train
c
Police

d
Fire
e
Chain of events
f
Pitwood
g
Stone and Dobinson
h
Involuntary
i
Contract
j
Kicked to death
(10 marks)

2
An actus reus is the mental element of a crime. An actus reus can be an act, an omission and intention. The third thing wrong is not mentioning the state of affairs. (3 marks)
3
 ‘For it to be an act the actus reus must be voluntary and you must have control. In Hill v Baxter you are held to be not in control if you are being stung by a swarm of bees.’ (3 marks)
4
a
Actus reus may be not present because the sergeant was not acting voluntarily and had no control. (2 marks)
b
Actus reus could potentially be present because he did act voluntarily. However, it may be harsh as he had no control. (2 marks)
Exam technique

5
State of affairs is where defendants may be found guilty even though they had no intention of committing an offence. They had no actus reus and in some circumstances no mens rea either. They are guilty even though they did not act voluntarily or have control. (3 marks)
6
Good definitions; good use of case law; omissions explained reasonably well; examples used other than cases; and sometimes students omit state of affairs but this student has included it. (5 marks)
7
The student could have mentioned the contemporaneity rule when discussing mens rea and actus reus at the start of the answer. The answer could have been improved by giving more of the duty situations for omissions. Overall, this answer would have benefited from more use of case law when describing the omissions. (3 marks)
Exam-style question

The physical element of an offence is known as the actus reus. It can be referred to as the guilty act and is required for there to be an offence. Usually the actus reus must be a voluntary act and the defendant must have control. However, there are exceptions to this rule, such as if there is no voluntary act but the defendant has failed to act, though it was that person’s duty to act, e.g. lifeguards have a duty to act if they see someone drowning in the water they are responsible for overseeing. This failure to act when you have a duty is known as an omission and can be the actus reus for an offence. There are said to be five omissions under which a duty to act exists. 

This is a good start by the student, who has defined what an actus reus is and shown sound understanding of an actus reus in the form of an omission by using an example.

If the defendant was bound by a contract to act (for example, it may have been his job), as in the case of 
R v Pitwood (1902) where Pitwood went out to lunch and left a rail crossing gate open. This led to the death of a man who was taking his cart across the train tracks. Pitwood’s job was to shut the gate, as laid out in his contract.

This is good use of case law to enhance the point and the student does not include too much case detail. However, it could be said that this answer gives a bit too much detail elsewhere, for example in the case below, which could be shortened significantly. 

Sometimes a duty can exist if the defendant volunteered to do something but failed to do this and harm resulted. This can be shown in the case of Stone and Dobinson (1977) where the defendants had volunteered to look after the sister of Stone. She became ill and the defendants failed to call for medical attention, which resulted in her death. The defendants were guilty of manslaughter because they volunteered to look after the sister but failed to do this.

Occasionally a person has a duty to act after starting a chain of events that leads to harm to the victim. The fact that the defendant does nothing to prevent what occurred after starting the chain of events can be seen as an omission. In R v Miller (1983) the defendant started a fire at a house he was squatting in but did nothing to stop the fire from spreading. He had started this chain of events (the fire) but failed to act when he had a duty.

There are situations when individuals have a duty to act because an Act of Parliament requires them to act or they are in a public position that requires an act to be carried out. An example to consider is where police officers have a duty to act because of their position and in some instances they are bound by the law to act. In R v Dytham (1979) a police officer did nothing when he witnessed a man being kicked to death. He had a duty to prevent the attack because of his official position.

This is good use of case detail. 

An omission can also occur if the defendants had a relationship with the victim that meant they had a duty to prevent harm to the victim — for example, a mother to her son. In R v Harris and Harris, the parents of a diabetic child refused to give their child insulin, resulting in the child’s death. They had failed to act when they had a duty because of a relationship, which resulted in their being found guilty of manslaughter.

Overall this answer is sound and would have achieved close to the maximum 7 marks. However, giving too much case detail could have cost this student valuable time in the exam.

Causation

8
a
False
b
Causation is the link between the conduct and the consequence.
c
novus actus interveniens
d
Factual causation is: ‘but for’ the defendant’s actions or omissions would the victim have suffered harm?

e
Thin skull rule
f
Pagett
g
Lung
(1 mark each)

Exam technique

9
To improve, the student could have explained what is meant by conduct with an example, and an explanation of consequence could have been given. (2 marks)
10
An example could have been given to enhance the explanation of the ‘but for’ rule. There is no mention of ‘operating and substantial’ cause for legal causation. The case of White could be used to enhance the explanation of legal causation, Factual causation is not the ‘but for’ rule; it uses the ‘but for’ rule. (4 marks)
11
Each of the three ways in which the chain of causation can be broken could be explained, and also some case law could be used, e.g. Smith or Roberts. (1 mark)
12
Good use is made of the thin skull rule, which is defined and then explained clearly with relevant case law used. However, this could have been improved by a brief explanation of how the rule was used in Blaue and a brief mention of Jehovah’s Witnesses. (4 marks)
Exam-style question

The courts have to consider if the conduct (act or omission) of the defendant causes the end consequence that the victim suffered. This is known as causation. To establish if causation is present the courts will consider two elements: factual causation (causation in fact) and legal causation (causation in law). 

This is a reasonable start to an answer on causation but it could have been developed more by explaining conduct and consequence, and an example could have been used.

In applying factual causation, the courts will use the ‘but for’ test. This can be applied in a straightforward way by answering the following question: ‘but for the actions or omissions of the defendant, would the victim have suffered the harm or consequences that occurred?’ Potentially the defendant could be found guilty if the answer to the question is no. So, as an example, David punches Suhkpal in the face and breaks his nose. Applying the ‘but for’ test to this brief scenario, it could be asked ‘but for David punching Suhkpal in the face, would he have suffered a broken nose?’ The answer would be no, so David would be guilty of a criminal offence.

This is a good explanation of factual causation with an example to illustrate. This would be judged as sound.

The defendant must have more than minimally, but not substantially, contributed to the harm suffered by the victim. The defendant has to be the ‘operating and substantial cause’ as stated by the judge in the case of R v Smith. This is legal causation. It is not necessary for the defendant’s actions to be the only cause or even the foremost cause of the consequence suffered by the victim: for example, if A stabs B and B is taken to hospital and there receives poor medical treatment that leads to B’s dying. Although it could be said that A was not the sole cause of B’s death (the hospital played a part as well), it is clear that A did more than minimally contribute to B’s death and that A was the operating and substantial cause of the death. Thus, legal causation is evident.

Again, this is good use of an example to illustrate legal causation. Good use of case law knowledge is evident when bringing in ‘operating and substantial cause’. R v White could have been mentioned.
The link between the conduct and the consequence is known as the chain of causation. There must be no novus actus interveniens (break in the chain of causation) and the defendant must consider any peculiarities or weaknesses that the victim may have (the ‘thin skull rule’).

It is possible in limited circumstances for the chain of causation to be broken by medical intervention, as in the case of R v Jordan. However, it is much more likely for victims to do something to themselves that could break the chain or for a third party to intervene and make the injuries more serious, thus breaking the chain.

This is a rushed ending to this 7 mark question. There is little explanation of the thin skull rule and even less on the ways the chain of causation can be broken. Key cases such as Blaue are missing. Overall, this is just about a sound answer but it is close to being clear.
Mens rea, transferred malice and strict liability
13
a
Latimer

b
Cunningham
c
Fagan
d
Woolin

e
Pembilton
(5 marks)

14
 Direct intention is when the consequence is desired and foreseen to happen by the defendant. 
(2 marks)
15
If Gina went to strike Mariam with her handbag but missed Mariam and struck an elderly lady, then the malice would be transferred from Mariam to the elderly lady. (2 marks)
16
Cunningham took an unjustified risk by entering the property as a burglar and attempting to remove the gas meter from the wall so that he could steal the contents. Cunningham knew there was a risk but went ahead with a total disregard for anything else. (2 marks)
17
(3 marks)
	Scenario
	Mens rea

	David believes that his girlfriend Diane is cheating on him. He loses his temper and pushes Diane, leading to her falling backwards and hitting her head on the corner of a table.
	Direct intention 

	Daxa is in a nightclub. She is very drunk and thinks that it would be highly amusing to stand in the middle of the dance floor and swing her handbag around her head. While doing this, her handbag hits someone in the face and causes significant injuries.
	Recklessness

	While riding his bike home, Sam decides to go through the park and have a game of chicken against a woman walking towards him with a pram. As Sam approaches the woman with a pram, he fails to move away in time and runs straight into the pram, badly injuring the baby.
	Recklessness as he took an unjustified risk


18
Strict liability offences are where no mens rea is required: simply carrying out the actus reus is enough. So, just doing the act will be enough for guilt. No intention or recklessness is required. Often these are minor offences and have no stigma attached to them, e.g. speeding. (4 marks)
19
In the case of Woolin, he did not desire to kill the baby but it was virtually certain that by throwing the baby against a wall it would die. (3 marks)
20
Recklessness (1 mark)
21
Where the actus reus and mens rea must coincide. (2 marks)
22 
(6 marks)
	
	Advantage
	Disadvantage

	Citizens are found guilty even if they are law abiding.
	
	(

	Cases can be dealt with more quickly because mens rea does not need to be proven.
	(
	

	It makes it easier for people to know where they stand.
	(
	

	The public is protected as those in positions of power must take extra care.
	(
	

	Most strict liability offences do not require a court hearing.
	(
	

	There is not really any stigma attached to a strict liability offence.
	(
	


Exam-style questions
01
Strict liability offences have both advantages and disadvantages. A significant problem of a strict liability offence is that citizens are found guilty even though they may have behaved in a law-abiding way. This is evident in the case of Shah where, despite doing all he could to ensure that his workers did not sell lottery tickets to underage customers, he was still found guilty. However, strict liability offences do ensure that the public is protected, as those in positions of power must take extra care; e.g. supermarkets must ensure that food is not out of date and butchers have to ensure that they abide by high hygiene standards.

This answer uses examples and case law to illustrate the point very well. Good interlinking sentences help the answer flow. This is a good start to a difficult question.

There is not really any stigma attached to strict liability offences, which can be a disadvantage because the public does not really care about being found guilty of such offences. For example, are members of the public really that bothered if they get charged with speeding? But, the advantage of having strict liability offences in such situations is that the mens rea does not have to be proven, which means that the courts can process such cases much more quickly, thus saving time and costs.

Strict liability offences make it easier for everyone to know where they stand with regards to the law. However, sometimes people or companies do know where they stand with the law and do everything they can to abide by the law and yet external factors play a part in their committing an offence out of their control. This can be seen in the case of Alphacell v Woodward, where a trespasser caused pollution to leak into the river. Should it be fair that the company was guilty of an offence here?

This student shows good knowledge of the advantages and disadvantages of strict liability, although there is some repetition in the last point. He/she does well to give examples or cases to back up the points made. This is a sound answer to a 7 mark question.
02
Mens rea is what the defendant was thinking about at the time of committing an offence. What was on his mind? Did she have a guilty mindset? Usually the mens rea for an offence can be either intention or recklessness. However, it can occasionally be knowledge, as in the case of Sweet v Parsley where the landlady was not aware that students were using her premises to grow illegal substances and therefore had no knowledge. It can also be negligence, which can form the basis of offences such as gross negligence manslaughter as in the case of R v Pitwood.
This answers shows more than a basic understanding of mens rea by including negligence and knowledge as types of mens rea.

Intention has two distinct elements. Direct intention is when the defendant desired to do what he had in mind to do. As an example consider R v Cunningham, where he had in his mind the desire to beat a man to death with a chair. Indirect intention or oblique intention is when there was no desire for that outcome to occur, but doing that action made it virtually certain that it would happen. In R v Woolin, he had no desire to kill his baby, but by throwing the baby at a wall it was virtually certain that death would occur.

A clear explanation of both types of intention with good use of case law further enhances the answer.

Recklessness can be stated as the taking of a risk that is not justified. So, the defendant is aware that there is a danger or a chance that something could happen but goes ahead and does the action anyway. This can be seen in the case of Cunningham, where he was aware that there was a risk that gas could leak everywhere but he continued with his actions anyway. This is subjective recklessness.

Transferred malice in its most simple form is when the malice or mens rea for an offence is transferred from one person to another, as in the case of Latimer. Malice cannot be transferred to an inanimate object (Pembilton).

This is rather rushed at the end. There is no development of the cases and no mention that malice cannot be transferred between two different offences. Coincidence of actus reus and mens rea could have been included. This is a good clear answer to a 7 mark question.
Assault and battery
23
a
punching someone
b
Constanza
c
baby
d
syringe
e
Santana
(5 marks)

24
Making the victim apprehend the fear of immediate and unlawful violence. (5 marks)
25
(5 marks)
	Pointing a gun at someone
	a
	Making silent phone calls late at night
	a

	Flicking someone’s ear
	b
	Pulling at someone’s hood, causing them to fall
	b

	‘I’m going to kick your head in!’
	a
	
	


26
a
Three

b
False

c
A syringe
d
If the defendant intentionally applies unlawful force to the victim or is reckless when applying unlawful force to the victim, this constitutes the mens rea of battery.

e
False

f
Indirect

g
In Constanza, he sent threatening letters and put graffiti on the front doors of the women as opposed to just making silent phone calls.
(8 marks)

Exam technique

27
(7 marks overall)

Denise could be charged with assault under s39 of the Criminal Justice Act 1988.
Assault can include: silent phone calls, as in the case of Ireland; raising a fist in a threatening way, as in the case of Stephens v Myers; and even threatening someone, e.g. ‘I am going to kick your head in!’
This is a reasonable start, showing clear knowledge of sections and Acts. More examples of assault could have been given but using two cases is good.

The actus reus for assault is making the victim apprehend the fear of immediate and unlawful violence. The fear has to be immediate, thus, if someone on a moving train shouted out of the window, ‘I am going to kill you!’ to someone on the platform, this is not an assault as it is not immediate. In the scenario, the threat by Denise was immediate, as she was right next to Hayley. She would have made Hayley apprehend fear of violence as she was in an aggressive state and said to Hayley, ‘If you do not get your hands off my handbag I am going to punch you in the face!’

The actus reus is applied well, focusing on key words from the actus reus of the offence and applying them clearly to the scenario.

The mens rea for assault is intention or recklessness. Looking at the scenario, Denise intentionally made Hayley fear unlawful violence.
This is a poor end to the answer. A lazy attempt to explain the mens rea means that this student has done what examiners hate — describing the mens rea as just intention or recklessness. There is also insufficient application. This would be a clear answer.
Offences Against the Person Act 1861 

28
a
Wounding (piercing of two or more layers of the skin)
b
Chan Fook (fear, distress and panic is not enough for s47 ABH)
c
Eisenhower (shot in eye with a pellet gun)
d
Wilson (can still be charged with s47 even if you consent)
e
Smith (cutting hair without consent is s47 ABH. Interferes with health and comfort.)
(5 marks)

29
(8 marks)
	Intention only
	s18
	Occasions
	s47

	Interfering with comfort and health
	s47
	Accidently piercing through two layers of skin
	s20

	R v Chan Fook
	s47
	Distress, panic, fear not enough
	s47

	5 years max. in prison
	s47/s20
	Cause
	s18

	Inflict
	s20
	Tried at Crown Court only
	s18


30
a
1861

b
Wilson
c
s47

d
s18

e
False

f
Dica
g
s20

h
‘really serious injury’
i
True

j
Some harm
(10 marks)

Exam-style question

Looking at the scenario, because of the severity of the offence, I think that Denise could be charged with grievous bodily harm/wounding which is Section 18 of the Offences Against The Person Act 1861. According to the House of Lords in DPP v Smith, GBH means ‘really serious injury’.
GBH can include: permanent loss of functions, fractured skull, fractured jaw and severe loss of blood, broken limbs/bones. GBH can also include psychiatric injury (R v Burstow). The scenario states that Hayley’s arm was deeply cut. If this is more than two layers of the skin then this could be classed as wounding. In R v Dume it was classed as wounding when a dog bit through a policeman’s leg. Wounding does not include internal bleeding and must be the breaking of both inner and outer layers of the skin (Eisenhower).
This is an excellent start to the answer. The student understands what grievous bodily harm is and has a good grasp of what wounding is. However, he/she could have mentioned the epidermis or bleeding in the cheek being enough for wounding.

The actus reus of Section 18 GBH is to unlawfully and maliciously wound or inflict GBH. In the scenario, Denise did this when she maliciously stabbed Hayley in the arm with her nail file.

The mens rea of Section 18 GBH is intention to cause really serious harm. Denise must have intended really serious harm by stabbing Hayley in the arm with the nail file.
This is disappointing. The student does not apply any of the key words from the actus reus of a s18 offence to the scenario and the application is weak for this level.

If Denise did not intend to cause really serious harm then she could potentially argue that she should be charged with GBH/Wounding Section 20. The actus reus for this is the same as for Section 18 GBH but the mens rea is intention to cause harm but not serious harm or recklessness as to causing some harm. Denise could say that she intended to cause only some harm and not really serious harm and should therefore be charged with Section 20 GBH/Wounding.
This last point shows that the student understands that Denise could potentially be charged with a lower-level offence, depending on the harm intended. However, there is no real attempt to apply it to the scenario. Overall, this would be a clear answer to a 7 mark question.

Topic 2 The courts: procedure and sentencing

 Criminal courts
1
(6 marks)
	
	Summary
	Triable either way
	Indictable

	Battery
	✓
	
	

	Wounding
	
	
	✓

	s18 Grievous bodily harm
	
	
	✓

	Assault
	✓
	
	

	s47 Actual bodily harm
	
	✓
	

	Theft
	
	✓
	


2
Indictable offences (1 mark)
3
Summary offences (1 mark)
4
Bail (1 mark)
5
Plea before venue hearing (1 mark)
6
a
Indictable offence (the most serious offences, including murder and rape)

b
Crown Court (where all cases for indictable offences go, to be heard by a judge and jury)

c
Preliminary hearing (hearing at the Magistrates’ Court to determine bail)

d
Conditional bail (bail granted with conditions such as surrendering passport)

e
Juries (lay people who sit in the Crown Court and give a guilty or not guilty verdict)
(5 marks)

Exam-style question
Jamie has been charged with a summary offence. These are the least serious offences and are tried at the Magistrates’ Court by three magistrates. Summary offences include things such as: littering, speeding and dog fouling.

Jamie will be given bail by the police because it is not a serious offence and then he will have to wait for a summons to come through the post, which will give him a court date to attend the Magistrates’ Court.

While free on bail, Jamie will be free to go about his usual daily life unless conditions have been imposed on his bail. Bail will be imposed under the Bail Act 1976.

When Jamie does attend the Magistrates’ Court, he will have a preliminary hearing where he must confirm his name and address plus date of birth. The magistrates’ clerk will then read out the details of the case and Jamie will get to plead. If Jamie does plead guilty, it may go straight to sentencing. However, if Jamie pleads not guilty then he may be released on bail and a new court date set or he may have his trial heard there and then.
You have only 5 minutes to answer a 5 mark question like this and to include all the necessary information. This short answer includes evidence of understanding about the preliminary hearing and the role of the magistrates’ clerk in proceedings, which many students miss. This is a sound answer.

Sentencing and bail

7
Aggravating: a, b, d, e, f, h
Mitigating: c, g

(8 marks)

8
a
Rehabilitation

b
Denunciation

c
Retribution

d
Conditional

e
£5000

f
Curfew order

g
5 years

h
Community service

i
Deterrence

j
Surrender passport, be in by a certain time, report to the police station regularly

(10 marks)

Exam technique

9
I would award 4 marks out of 7. To improve the answer, up-to-date examples could have been used, e.g. naming and shaming on billboards. An explanation of an aim of sentencing would have improved the answer. Case law would have been beneficial, e.g. R v Whitton for deterrence. (3 marks)
10
I would award 4 marks out of 5. This is a good answer. To improve it, more examples could have been given (of both aggravating and mitigating factors), and case law would have enhanced the answer, e.g. an aggravating factor in Mitchell was that the victim was old. (3 marks)
Exam-style question

Bail is when the defendant is free to go until their next court date or attendance at a police station is required. The defendant can go about his/her daily life as normal, although some conditions may have been attached to the bail.

The Bail Act 1976 is used to govern bail. The defendant can be given bail either by the court before which he was seen or by the police. There are various reasons for bail but the main ones are so that the police can collect any additional evidence to pass on to the CPS in order to prosecute the defendant and also because of the lack of space in prisons.
Bail can be refused on various grounds. If the defendant has failed to turn up for bail before is one such ground as is the fear that the defendant may try and interfere with witnesses in some way. However, the main grounds for refusal of bail are based around the seriousness of the offence committed. Being charged with murder is unlikely to result in the defendant being let out on bail. If the defendant has been found guilty of murder, rape, attempted rape or manslaughter then it is also rare for bail to be given.
This answer manages to cover just about everything required for a sound answer under timed conditions to this 5 mark question. However, a more detailed explanation of unconditional and conditional bail would have ensured a sound answer. Because of this it is only a clear answer.

Section B 
Introduction to tort

Topic 3 Liability in negligence

 Background information on tort
1
The word tort comes from the French for wrong. It is also referred to as the law of negligence. Tort is based on civil law, and the rules come from previous cases. The leading case is Donoghue v Stevenson, which gave us the neighbour principle. The judge must be satisfied that the defendant owed a duty of care to the claimant, that he then breached his duty, and that the damage caused to the claimant was a result of the breach. The judge will award damages to the claimant if the defendant is found liable. (11 marks)
2
(15 marks)
	Criminal law
	Civil law

	Magistrates’ Court

defendant

prosecution

sentence

assault

Crown Court

mens rea

guilty

malice

Supreme Court
	Magistrates’ Court

County Court

claimant

compensation

negligence

liable

Supreme Court


3
(6 marks)
	Accident
	Trial
	Award

	Evidence must be collected at the scene and witness statements taken.
There will be negotiations between the parties.
The case is prepared.
	The trial will prove duty, breach and damage.
The judge will return a verdict.
	The award of damages is made as the defendant has been found liable.


4
Balance of probabilities is the standard of proof that the claimant must prove to find the defendant guilty. In a criminal trial, the prosecution must prove guilty beyond all reasonable doubt, so if there is doubt in the jury’s mind, the defendant must be found not guilty. In civil cases the ‘balance of probabilities’ is a lower standard than in a criminal case. It is defined as ‘more likely than not’. As juries are not used in negligence trials, it is the judge who determines. If the judge is convinced that the claimant is ‘more likely than not’ correct, the defendant will be found to have been negligent.
(3 marks)
5
The defendant must owe the claimant a duty of care.
The defendant must breach that duty.

The damage caused to the defendant must be a result of the breach. (3 marks)
6
 b, d, a, e, c
Negligence is the omission to do something which a reasonable man, guided upon those considerations which ordinarily regulate the conduct of human affairs, would do, or doing something which a prudent and reasonable man would not do. (5 marks)
7
Donoghue v Stevenson (1 mark)
8


	Area of law
	Negligence

	Point of law
	Brought about by the neighbour principle ‘love thy neighbour’

	Facts of the case
	Mrs Donoghue drank a ginger beer that had been bought by her friend. She became ill as a decomposed snail was in the bottle. Mrs Donoghue made a claim against the manufacturer, Stevenson. The friend bought the ice cream and a ginger beer. The claim was successful, and was the first of its kind where the consumer was able to sue the manufacturer.


9
Caparo v Dickman (1990) (1 mark)
10
Foreseeability; proximity; fair, just and reasonable. (3 marks)
11
Objective is a test based on the ‘reasonable man’. It would be for the jury to decide — what do they think? (2 marks)
The test for foreseeability is, ‘Is it reasonably foreseeable that a person in the claimant’s position would be injured?’ (2 marks)
12
Proximity looks at the ‘closeness in time and space’ between the claimant and the defendant and the relationship between the two. They must be close in either time or space. People in the same area would be deemed close in space. A consumer using a manufacturer’s product would be close in time. The two do not have to know each other. (2 marks)
13
Reasonableness is determined by the judge, who will base this final element on what seems best for society as a whole, taking into account public policy. It is not sensible for the judge to find the defendant liable if doing so would open the floodgates for other claims, as would not be deemed fair. For example, if an ambulance driver did not reach the scene of an accident on time because of traffic, and someone died, it would not be fair to say it was the ambulance driver’s fault. If the judge did put fault on the ambulance driver, the claimant would be able to sue for negligence every time an ambulance turned up late through no fault of the driver, which is not fair. (3 marks)
14
‘Floodgates’ means an abundance of claims being put forward. If the judge allows an unreasonable claim to go through, it could cause a ‘domino’ effect where hundreds of people in similar situations then put in a claim for being in a similar situation. (2 marks)
15


	Area of law
	Negligence; duty of care; reasonableness

	Point of law
	No duty of care owed based on policy grounds

	Facts of the case
	Mrs Hill, the mother of the Yorkshire Ripper’s last victim, brought a case against the Chief Constable of West Yorkshire Police, claiming the police should have kept her daughter safe. There was not duty owed as the judge said that, although the police knew there would be another victim, they had no idea who it would be. Therefore it would be unreasonable to hold the police at fault in this situation.


Exam-style question

a
Would a reasonable person in the position of ‘tents to go’, have foreseen that someone in Amal’s position could be injured? It is likely that a reasonable person could have foreseen that someone who went into a tent that hadn’t been secured properly could be injured. (2 marks)
b
There is proximity in space, as Amal was inside a tent made by ‘tents to go’. (2 marks)
c
It is fair, just and reasonable to impose a duty on ‘tents to go’, because there is no doubt that they were responsible for the injuries to Amal and that she was the only one hurt. There is no public policy reason why any ‘floodgates’ would open in this situation. 
(3 marks)
It is important to use evidence from the scenario in your answer. Full marks would be awarded as the evidence is clear and relevant.
Breach of duty
16


	Area of law
	Negligence: breach of duty

	Point of law
	There must be a degree of risk. If the risk is unknown, then there is no breach.

	Facts of the case
	The defendant had been injected with some antiseptic that came from a glass jar. This anaesthetic had become contaminated because there were invisible hairline cracks in the jar. Some antiseptic had leaked through these cracks, resulting in the contamination. It resulted in the defendant becoming paralysed from the waist down. There was not breach of duty, as the risk was not known about.


17
Bolton v Stone (1951) (1 mark)
18
Hayley v London Electricity Board (1964) (1 mark)
19
The size of the risk: the greater the risk, the greater degree of care is needed.

Precautions: has the claimant taken any precautions to avoid the damage?

Characteristics of both the claimant and defendant when determining fault: experts are measured against an expert in their field.
(3 marks)

20
(15 marks)
	Case name
	Point of law
	Facts

	Donoghue v Stevenson (1932)
	Sets out the neighbour principle in the law of negligence.
	Decomposed snail found in bottle of ginger beer. Mrs Donoghue sued the manufacturer for the discomfort suffered.

	Bourhill v Yung 
	No proximity of time and space, therefore no duty of care owed.
	Claimant was getting off a tram and heard a collision. She went to see the aftermath and suffered shock from what she had seen.

	McLoughlin v O’Brian (1983)
	No proximity of time and space. There was a relationship, so a duty of care was owed.
	Claimant rushed to see injured family and then suffered shock. The relationship was enough to show proximity.

	Hill v Chief Constable of West Yorkshire (1988)
	No duty on policy grounds. It would not be reasonable.
	Claimant tried to sue police, stating they owed a duty to her daughter (the last Yorkshire Ripper victim). The police had no idea who the last victim would be, therefore it was held to be unreasonable.

	MPC v Reeves (2001)
	On the ground of public policy, a duty of care was owed.
	A prisoner taken into custody who was at risk of committing suicide hanged himself in his cell.

	Nettleship v Weston (1971)
	The standard of care from a learner driver is the same standard expected from a competent driver
	The defendant was a learner driver. She hit a lamppost, injuring the instructor. 


	Bolam v Friern Barnet Hospital Management Committee (1957)
	The standard of a professional is judged by the standard of the profession.
	Bolam was treated with electro-convulsive therapy. He was not warned of the risks involved. He suffered a broken bone. There were two differing opinions on how to carry out such therapy.

	Paris v Stepney Borough Council (1951)
	The greater the risk, the greater the degree of care needed.
	Claimant, who was blind in one eye, was employed as a fitter in a garage. He suffered injuries to his good eye, which resulted in him becoming totally blind.

	Bolton v Stone (1951)
	Even if the risk of harm is small, there may not be a breach as long as reasonable precautions have been taken.
	The defendant hit a cricket ball so hard it went out of the ground and hit a lady walking her dog. The likelihood of a ball clearing the perimeter fence is not something a ‘reasonable man’ would be expected to protect against.


21
Breach of duty is the second element in order to prove negligence. It must first be shown that there was a degree of risk — if the risk was not known then there is no breach (Roe v Minister of Health).

Even where the risk is deemed small there could be no breach (Bolton v Stone). Once a degree of risk is established, the defendant must be shown to have acted below the standard of a ‘reasonable man’ (Blyth) to be found liable. Certain factors are taken into account by the courts. If there is a greater degree of risk, then the standard required by the defendant will be higher, meaning more care would have to be taken (Paris v Stepney). If the defendant has taken precautions to prevent the damage, as in the case of Latimer v AEC, there may be no breach. Characteristics of the defendant are also taken into account. The case of Bolam tells us that the standard of a professional is judged by the standard of the profession. A learner driver is judged against the standard of a competent driver (Nettleship v Weston (1971)). (16 marks)
Exam-style question

To determine whether Latimer College has breached its duty of care, it must first be determined that there was a degree of risk and that the risk was known. If disabled students enter an unlocked, unattended science lab, there is a clear degree of risk to them, especially as there were test tubes containing dangerous substances. There is clearly a known risk. It must then be determined that the college acted below the standard expected of a ‘reasonable man’. In this situation it is reasonable to expect the science labs to be locked, and certainly that the disabled students be supervised at all times. This was clearly not the case, as Zoe left them when she talked to friends. Latimer College clearly acted below the standard expected from a ‘reasonable man’. It did not take any precautions to keep these students safe. The characteristics of the claimant are clear: he is disabled. Therefore, knowing this, it could be said that Latimer College should have taken a greater degree of care and made sure that the disabled students were supervised at all times by a competent member of staff.

This question is worth 7 marks. The answer applies all elements of breach, using evidence from the scenario. All factors are discussed giving clear, coherent reasoning.

Damage

22
Damage is the final element of tort. It must be shown that the damage caused to the claimant was a result of the breach by the defendant.

Damages are the type and amount of compensation awarded by the judge when negligence has been established. It is the remedy. (4 marks)
23
Causation in fact is where the ‘but for’ test is applied — but for the defendant’s breach would the claimant have suffered injuries/loss? If the injury or loss would have occurred regardless of the breach, then the defendant is not at fault. (3 marks)
24


	Area of law
	Damage: final element of tort

	Point of law
	Causation in fact must be satisfied by applying the ‘but for’ test.

	Facts of the case
	No causation in fact: the hospital failed to diagnose that a night watchman had been poisoned. The hospital told him to see his own GP in the morning. He died in the night. The cause of death was the poisoning and not the hospital’s failure to examine him properly.


25
Fairchild v Glenhaven Funeral Services Ltd (2002) (1 mark)
26
Novus actus interveniens (1 mark)
27
(4 marks)
	Case name
	Point of law
	Facts

	Smith v Littlewoods (1987)
	The use of harm must be reasonably favourable to the defendant.
	Defendant bought a cinema with a view to demolish it and build a supermarket. He left the property unattended but secure. Vandals broke in and started a fire that caused damage to adjacent properties. Vandalism was not common in the area and the judge held the events were not reasonable or foreseeable. The vandalism had been a novus actus interveniens.

	Corr v IBC Vehicles (2006)
	The test is not whether the outcome was foreseeable but whether the kind of harm was foreseeable.
	Claimant suffered severe injuries in an accident at work, caused by malfunctioning equipment. This led to severe depression and suicidal tendencies. The claimant committed suicide. The court held that the depression was foreseeable, and that this led to the suicide. There was no novus actus interveniens. Defendants must ‘take the victim as they find them’.


28
Overseas Tankship (UK) Ltd v Morts Dock and Engineering Co. Ltd (1961) — also known as The Wagon Mound — the name of the ship involved in the incident. (1 mark)
29
The claimant had to take an old van from Exeter to Bedford. When he got there, he had to collect a new van and drive back. The weather was bad and there had been weather warnings. There was advice given not to travel unless it was necessary. There was no heater. Bradford suffered frostbite. This type of damage was reasonably foreseeable based on the extreme weather conditions. (4 marks)
30
Doughty knocked a lid into a vat of molten metal. The eruption that was caused in the vat was not a foreseeable consequence. There was no scientific evidence to say that such an effect would occur. 
(3 marks)
31
The concept of ‘take the victim as you find them’ is similar to the one in criminal law. The defendant is held liable for the injury/loss, even if unaware of a pre-existing condition that made the injury/loss worse. (4 marks)
32
Smith v Leech Brain (1962) (1 mark)
Exam technique

33
a
 ‘Bikes are you’ owes Layla a duty of care because it is foreseeable that not servicing the bike could lead to an injury occurring. There is proximity between ‘Bikes are you’ and Layla as she was a customer and was riding one of the company’s bikes. It would be fair and just to impose a duty on ‘Bikes are you’. There is no public policy reason why this should not be allowed and there would not be a sudden influx of cases against the company. (7 marks)
b
There must be a degree of risk. It is a well-known fact that a tyre falling off a bike while it is being ridden poses a degree of risk to the rider. All bikes that are rented out should be checked for faults, and a reasonable bike rental business does this. The company does not appear to have taken any precautions to prevent this accident and there are no special characteristics of either the defendant or claimant that need to be taken into account. (7 marks)
c
Applying causation in fact: ‘but for’ that tyre falling off, Layla would not have been injured. The clear and direct cause of her injured ankle was the tyre falling off and her falling to the ground. There is no novus actus interveniens. (3 marks)
Excellent use is made of evidence — application is clear and concise. Each area of tort is applied well, giving clear reason why ‘Bikes are you’ is to be found at fault.

Topic 4 The courts: procedure and damages

 Burden of proof, compensatory damages 
 and civil courts
1
The court of first instance is where the case starts. For example, most civil cases start in the County Court. (1 mark)
2
Small claims track; fast track; multi track (3 marks)
3
(9 marks)
	Track
	Value of claim
	Court that deals with the initial claim

	Small claims track
	Damages less than £5,000 
	County Court

	Fast track
	Damages between £5,000 and £250,000
	County Court/High Court

	Multi track
	Damages above £25,000
	High Court


4

Supreme Court — final court of appeal in civil law
(Constitutional Reform Act 2005)
Can hear appeals from Court of Appeal

‘Leap frog procedure’ — can hear appeals from High Court if:

· Public importance in relation to SI or delegated legislation

· When the trial judge is bound by a precedent


Civil Court of Appeal — appeal to Supreme Court
35 judges — hear appeals from:
· County Court

· High Court — as first instance or appeal

· Employment appeal tribunal

High Court — first instance — will appeal to Civil Court of Appeal
Three divisions:
Queen’s Bench                                              Family                                                Chancery

Contract and tort                                       Family matters:                                    Companies court
70 High Court judges                              divorce, adoption,                                    wills, trusts, 
Royal Courts of Justice                           care procedures                                    business issues

As an Appeal Court

Reviews government depts.                 Appeals on all family                              Appeals on all
Judicial review                                            matters                                              company and
and tribunal decisions                                                                                       business matters

Also hears appeals from Magistrates and tribunals

County Court — court of first instance — will then appeal to High Court
Most civil disputes, contract, tort, bankruptcy, property and divorce

· Up to £5,000 small claim (District Judge)

· £5,000–£25,000 fast track (Circuit Judge)

Magistrates’ Court — court of first instance — will then appeal to High Court
· Family matters (except divorce)

· Council tax, water, electric/gas charges

· Hear appeals about gambling/alcohol licences

(5 marks)

5
Appeals can be made on errors of law or fact. The relevant party must get permission from the relevant appeal court, which is known as obtaining ‘leave to appeal’. (3 marks)
6
The leapfrog procedure is when the appeal goes from the High Court straight to the Supreme Court, missing out the Court of Appeal. This will happen only when the case is of high public importance and public interest. (3 marks)
7
Res ipsa loquitur means that the thing speaks for itself. There is no explanation other than that the defendant is negligent. Negligence can be inferred from the facts of the case. The key element in this concept is that the burden of proof is reversed. The claimant does not have to prove the case — rather, the defendant must disprove it. (5 marks)
8

	Area of law
	Burden of proof in negligence

	Point of law
	Res ipsa loquitur — the thing speaks for itself — reverses the burden of proof. It is for the defence to disprove its liability.

	Facts of the case
	Claimant was walking along the docks when he was hit on the head by sacks of sugar, which had fallen from the crane above. There was no explanation for the event other than that the company being negligent.


9
(4 marks)
	Case name
	Point of law
	Facts

	Mahon v Osborne (1938)
	Res ipsa loquitur — the thing speaks for itself and the burden of proof is reversed.
	A surgeon left a swab inside a patient’s body.

	Pearson v North Western Gas Board (1968)
	Res ipsa loquitur does not automatically mean the defendant is negligent.
	Gas main exploded, destroying the claimant’s house and killing her husband. The gas board had taken all precautions. The recent cold weather had fractured the gas pipe. 


10
Alternative dispute resolution (1 mark)
11
Meaning: The parties themselves try to reach an agreement — an amicable solution. (2 marks)
Example 1: A pot of yoghurt from a local supermarket had gone off, despite being within its sell-by date. So I took it back to the supermarket and told the assistant I was unhappy. The assistant called the manager and the manager offered me a refund. I negotiated with the supermarket for a solution to my problem. (1 mark)
Example 2: My neighbour was pruning his tree. A branch fell into my garden, breaking my fence. My neighbour came round, apologised and offered to replace the broken fence. He negotiated with me and we reached an amicable agreement that solved the problem. (1 mark)
12
(2 marks each)
a
The claimant obtains a form known as an N100, either from the court or online. The form is filled out and then the claimant must file the form with the court and pay the appropriate fee. The names of both the claimant and the defendant must be put on the form together with details of the claim. The claimant must sign the form.
b
The defendant will receive a copy of the claim form and will have a chance to defend the claim. He will be given 14 days. The defendant may try to settle the claim by offering to make a payment. If the claim is disputed, the defendant will receive extra time to prepare a defence.

c
When the claimant receives the defence, he will also receive a questionnaire, which must be completed. This helps the judge to allocate the case to the correct track. Once the questionnaire is received, a track will be allocated.

d
The judge will allocate a track depending on the value of the case: small claims track for claims less than £5,000; fast track for claims between £5,000 and £25,000 and a multi track for claims over £25,000. The value of the claim will then decide which court of first instance hears the case.

e
A trial date is set. The date will be at least 21 days from the allocation of track. This will vary depending on the size of the case and what directions are needed. During this time the case will be prepared. Evidence will be gathered and all documents will be copied for all parties concerned.

13
Dawn will need to fill in an N100 form. She could get one online or from her local county court.

She will need to fill in the particulars, explaining what happened at work.

Correct information must be given, showing clear dates, times and injuries.

Dawn will have to show that her employer is the defendant and that she is the claimant. She needs to put down the particulars of the claim, stating clearly what she is requiring as a remedy.

She will need to send the form back to the court and then wait for a defence (if applicable) from her employer.

At this stage, her employer may choose to negotiate and may offer Dawn a settlement figure.

If not, and there is a defence, both parties will need to fill out an allocation questionnaire. The judge will then allocate a ‘track’, depending on the value of the claim, and will then set a date for trial. (7 marks)
14
To put claimants back into the position they were in before the breach. No profit should be made. 
(2 marks)
15
(4 marks)
	General damages
	Special damages

	No quantifiable sum: pain, suffering and loss of amenity

Examples:

Broken arm

Depression
	Quantifiable losses:— financial losses incurred up to the date of the trial. These losses can be given an exact figure

Examples:

Damage to a car

Broken window


16
(2 marks each)
a
Pecuniary losses are financial losses, such as loss of wages.
b
Non-pecuniary losses are losses that do not have a financial value, such as pain and suffering, loss of amenity etc.

c
Compensatory damages is the remedy in negligence. The claimant’s loss will be repaid. The aim of the judge is to return the claimant to the same position as before the damage occurred. The claimant will not profit from the award.

17
(8 marks)
	Special damages
	General damages

	Damage to a car

Damage to property

A bike is damaged beyond all repair

The claimant had to pay for medical bills

The car is unsafe to drive and has to be written off

The loss of 6 months’ pay due to a broken ankle
	The claimant has continuous back pain

The shock of the accident has made the claimant depressed


18
(6 marks)
	Payment method
	How they work
	Most suitable situations

	Lump sum payment
	A one-off payment awarded to the claimant, paid by the defendant.
	Damage to a car. The defendant has to pay the amount required to fix the car.

	Periodical payments
	Payments given over a period of time.
	Physical damage to claimant: inability to work for the foreseeable future.

Periodical payments will be put in place so the claimant receives a set monthly amount.


Exam technique

The civil court structure can be seen as a hierarchy. The lower two courts are the County Court (where most civil cases start) and the Magistrates’ Court, which deals with some family matters and issues regarding the payment of amenity bills. These courts can be referred to as the court of first instance, as it is where a case will commence. These claims will normally be for less than £5,000. Any case above this will be dealt with by the High Court. This is further split into three key divisions: Queen’s Bench Division deals with the majority of tort and contract cases; Family Division deals with family issues; and the Chancery Division deals with companies, wills and trust issues.

Both the County Court and High Court can be a court of first instance for claims between £5,000 and £25,000 and the High Court can also be an appeal court for those courts below it. The Court of Appeal Civil Division deals with appeal cases and can be a court of first instance if the case is going directly to appeal. If the case is of public importance, the ‘leapfrog procedure’ may be put in place, which misses out the Civil Court of Appeal and the case goes direct from the High Court to the Supreme Court.

The Supreme Court is the final court of appeal in this country. Cases are heard by justices. A further appeal can be made to the European Court, with leave of the court.

All civil cases must be proven on a balance of probabilities, known as the burden of proof. It is for the claimant to prove the defendant was negligent. The judge must be satisfied that the defendant was ‘more likely than not’ negligent. The burden of proof is reversed in cases of res ipsa loquitur — the thing speaks for itself (Scott v London and St Katherine Docks). This is where there is no explanation other than the defendant was negligent.

This answer is clear and concise. It explains the court structure well, featuring the ‘leapfrog procedure’ and showing knowledge of key terms such as ‘court of first instance’. The grounds for appeal are also covered. The divisions of the High Court are clearly identified, with good examples of types of case heard in each. The burden of proof is explained well and there is good use of case law to back up the rules. This is a sound answer to a 7 mark question.

Exam-style questions

01
The purpose of damages is to put claimants back into the position they were in before the breach. Damages are compensatory in nature and the claimant must not profit from the award. Finella has clearly caused damage to Sam’s car by driving into the back of it. This is known as ‘special damages’ as it is easily quantifiable. The cost of repair of £200 with £200 labour is a total of £400.

Sam has also suffered some back pain. This would be seen as general damage as it is not easily quantifiable. This will be up to the judge to award, who will take into account the fact that Sam will be off work for the next 4 weeks. The judge will follow guidelines laid down by the Judicial Studies Board.

The bad back has also meant that Sam will lose 4 weeks’ pay, as he is a self-employed taxi driver. Future loss of earnings is difficult to calculate, so a multiplicand will be used. The judge will take average earnings when calculating the amount to award.

This question is worth 7 marks. The answer identifies clearly the difference between general and special damages and applies it to the scenario well. Pecuniary and non-pecuniary losses could be mentioned to reach ‘sound’, but the answer is generally well explained and applied. This answer would be clear.

02
The judge can award a lump sum payment, which is paid in one go by the defendant to the claimant. This type of payment is suitable for damage to goods. Another type of payment would be periodical payments, with amounts paid over a period of time. These are best suited to situations where the claimant needs a regular income for a period of time.

Finella will probably have to pay a lump sum of £400 for the damage to Sam’s car. Regarding the loss of earnings, the judge may decide to award a periodical payment to ensure that Sam is cared for during the 
4 weeks he is unable to work. However, 4 weeks is a relatively short time, so the judge may see fit to award a lump sum for the whole amount.

Straight to the point, clearly identifying the different types of award and giving good examples of when they can be used. Very good application, giving good reason for the decisions suggested. This is a sound answer worth the full 5 marks.
Leapfrog procedure
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